


Slope - Y Intercept Form

» 1s of the form... , where m 1s the slope
b is the y intercep

» if you are given m and b, then you can get the equation of the
line.

ex: Determine the slope and y-intercept of the following line.

32y-1)=-2(x +5)

'

ex: sketch the line that passes through the p(‘ints (3, -4) b@
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 Determine the equation of this line .
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Finding the Equation of a Line

Method #1: Slope - Y Intercept Method

y=mx+b

Need: (1) the slope & (2) they-intercept

Example... Determine the equation of a line that passes through the
point (0, -5) and is perpendicular to the line 2x + 3y = 6.



Practice Problems...

Page 362 - 363
#4,5,8,9,11,12,17, 18, 19, 20, 21, 22, 23, 24
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